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QUESTION NO: 1

Which two displays are included in the loT Operations Dashboard? (Choose two )

A. destination mapping

B. asset connectivity

C. agent mapping

D. data policy deployment status

E. transformation parameters

ANSWER: B D 

QUESTION NO: 2

Which industrial network switches are ideal for monitoring equipment within mining operations?

A. MerakiMS125-48

B. Catalyst 9300 

C. IE1000

D. Catalyst IE3400

ANSWER: A 

QUESTION NO: 3

Which Cisco switch products are commonly deployed in roadside infrastructure solutions?

A. Switch products should not be deployed because wireless access points are recommended

B. IE3000 series switches 

C. IE2000 series switches 

D. IE5000 series switches

ANSWER: D 

QUESTION NO: 4
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Which Cisco Industrial Hardware is used for SPAN to support a brownfield Cyber Vision installation?

A. ISA3000 

B. IC3000 

C. IR809 

D. ASA9000

ANSWER: B 

QUESTION NO: 5

What are two ways CyberVision provides visibility and insights on industrial operations? (Choose two )

A. provides management of conveyor operations

B. monitors Automation Control Systems

C. maps industrial zones and conduits

D. conducts motion analytics in robotics operations

E. detects changes in the control system

ANSWER: A E 

QUESTION NO: 6

What is the benefit of deploying the Extended Enterprise CVD to provide scalable and repeatable operations across the 
entire enterprise with Cisco DNA Center?

A. User Authentication

B. Scalability

C. Guided Remediation

D. Security

ANSWER: B 

QUESTION NO: 7

Which two scenarios are ideal for deploying Cisco Edge Intelligence? (Choose two )

A. when data needs to be sent to multiple locations 
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B. when user authentication is implemented centrally

C. when OT Security is implemented centrally

D. when single vendor out of the box edge experience is preferred

E. when policy management is edge enabled

ANSWER: B C 

QUESTION NO: 8

Which two functions describe the role of the IE5000 in the network hierarchy? (Choose two )

A. The IE5000 series are ruggedized, rack mount highly secure and scalable switches for access layer deployments

B. The IE5000 series are ruggedized. rack mount highly secure and scalable switches for aggregation layer deployments 

C. The IE5000 series are ruggedized. rack mount highly secure and scalable routers for aggregation layer deployments 13 

D. The IE5000 series are ruggedized. rack mount highly secure and scalable routers for distribution layer deployments

E. The IE5000 series are ruggedized. rack mount highly secure and scalable switches for distribution layer deployments

ANSWER: A D 

QUESTION NO: 9

In which two ways can roadway safety issues be addressed? (Choose two.)

A. dynamic message sign automation

B. vehicle weight assessment

C. work zone protection

D. workflow automation and enforcement 

E. vehicle counting and classification

ANSWER: C E 

QUESTION NO: 10

What are the benefits of integrating DER applications'?

A. Volt/VAR optimization

B. meter read accuracy and efficiency
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C. predictive and preventive maintenance of the transformers

D. reliability and efficiency obtained through a dynamic DER

ANSWER: A 
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